Using real objects, create your own bar model for division
problems.
Example; below shows the calculation 30 + 6 = 5 (,g,r,o,wpxs)

Try these; ( Tip, count in 25 55 and 105 where ,p,o&sjbl,e)
I0 + 5 =

0 =+ 2 = Use cubes, counders, lego, marhles, choc

12 + 2 = buttons, normal buttons, whatever youne gokt.
15 + 5 = Drow yowr bhar with the whole numhber .at

20 =+ 5 = the top.

20 = 10 =

Next, put the whole rumber in the top bhar. Count out the groups
into the hottom har by drowing dots or bhlobs.

Example 12 + 3 =
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15 + 3 =

12 + 6 =

4 + 2 =

20 + 4 =




Lastly, draw syowr own bar imodel (using .o ruler) to solve these
division problems;

0 + 5
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4+ 5



